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Instructions  to Candidates

1. The Question Booklet containing 50 questions and the OMR answer sheet is given to you.

2. All questions are compulsory, each question carry one mark.

3. During the examination,

• Read the questions carefully.

• Completely darken/shade the relevant oval against Question No. in the OMR answer sheet,
using blue/black ball point pen. Do not try to alter the entry and not do any stray marks on
OMR Sheet.

• Ex: In an question paper if Sl. No. 3 is correct answer for Question No. 20, then darken OMR
answer sheet using blue/black ball point pen as follows.
20. 1 2 3 4           (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong and no
marks will be given.

5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before leaving the
examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the
examination hall.

8. English version of the question paper will be considered as final, in case of any dispute arising
out of variation in translation version.

9. In case of any dispute the opinion of the experts appointed by DSERT will be final.

Question  Booklet Sl. No.
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 SPACE  FOR  ROUGH  WORK
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(Questions : 1 – 5)

Directions : Complete the following
number / letter / figural series by choosing
from the given choices.

1. ��
���

��
�

		


�
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�
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��
�

�

�

1) 104 / 173

2) 112 / 183

3) 114 / 193

4) 122 / 243

2. 2,   2,   5,   7,   11,   22,  ? ,  ?

1) 23,  35

2) 23, 67

3) 43, 77

4) 63, 85

3. D G K P G J N S __ M __ V __ P T __

1) N Q U X

2) K N R W

3) J Q M Y

4) L O R U

1. GENERAL MENTAL ABILITY TEST

����,�����-./0�������	1��2��������

(�� 3�%����	�4�1�5�5)

��67�������	�4���� !"����	���	�	
��	����#�$�	��
�%��
���&
�'����"���
�'()�*��
�	+�*�,-��
����.	��/,����#01
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4. Figural series

5. Figural series
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(Questions :  6 – 9)

Directions : In the given questions there
are four groups of numbers / pairs of
numbers / groups of letters / figures.
Among them  three are alike and one is
different. Find the one which is different.

6. 1) 5 8 8

2) 6 7 5

3) 7 3 5

4) 7 6 8

7. 1) 211,  41

2) 338,  54

3) 507,  69

4) 734,  76

9.

(�� 3�%����	�4�6�5�9)

��67�������	�4�2	��
�%��	�� *+ �.��
�34
�� *5�	���$ �" �34�	���	 ���& � ���
��	 '	 6 ���7
���&����
��'	����"���
�	������8��
��	'	()�*��
�	�
9�:
������8��
����.	��� !��1	;��8��
�34	����"��	<�$��
��5�	��	���=�$>������.	?����"��)�@$�	���)��@	<�$��
��	
)�*	AB��.�
%$�1	AB��.�
%"����8$����.	���"��501

8. 1) G   S  K P

2) D  W M  N

3) B Y  E  V

4) L  O  I  R
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(Questions :  10 –12)

Directions : Identify the number of
specified geometric shapes in the given
diagrams and mark the correct answer.

10. How many squares are there in the
given figure ?

11. How many triangles are there in
the given figure ?

(�� 3�%����	�4�10�512)

��67�������	�4���
���	��� !"����	()�*��
�34	���()�
6
���5�	��	C��D5��
�	���&���	�����.	���E��	F7$��G
H)�@"������.	���"��501

10� ��6����	���8��9��,�	:#�
$�	��7.����;���<

1) 13

2) 12

3) 11

4) 10

11� ��6����	���8��9��,�	:#�
$�	��� -=�	���;��<

1)  8

2) 10

3) 12

4) 14
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12. How many Trapeziums are there
in the given figure ?

13. If M A T H S is coded as
G G N N M, then B O T A N Y can
be written as

1) V U N G H E

2) H U N G V E

3) V N U G G H

4) H H U V V G

12� ��6����	���8��9��,�	:#�
$�	��!� >����;���<
1) 7

2) 9

3) 10

4) 12

13� M A T H S ��	%������������"�G G N N M

���	����������B O T A N Y��,�	��	%�?���
����,�	�)�	��	
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(Questions : 14 – 15)

R Q

Park

P S

P, R, Q and S are standing in the corners
of a square shaped park with length L mts.
as shown in the figure.

P and Q walk 
2
1

L mts. in clockwise

direction, while R walks 2 L mts. in
anti clockwise direction. S remains in the
same corner.

14. Now, in which direction P is
standing with respect to R, Q
and S ?

1) To the north of R and S

2) To the north – west of R and S

3) To the south of R and Q

4) To the south – east of Q and S

(�� 3�%����	�4�14�5�15)

P, R, Q	���) ��@	S	��
��	L	���1	H$�I$�	<�$��
J��
�
" �	 �
K���	 ����L �� �
�34	 () � *$ �34
)����0"�����)�	��5$
I"�1

P	���)��@	Q ��
��	��7�	�	
"�$�	�K:��34	
2
1

L	���1

��E�$�"�G R	���	��7�	�	
"�$�	�"��$��	�K:��34
2 L	���1	��E ��	���)
@��1	S	���	�$��
����L��	��34"��)
@��1

14� @���P��,�		�R, Q���	!�	(�S���;�����,�,���
/A*��:#�B����	!�(���?

1) R	���)��@	S	��
�	H)�@"���:

2) R	���) ��@	S	��
�	�
�	�������:

3) R	���) ��@	Q	��
�	$�K�,��:

4) Q	���) ��@	S	��
�	C��.��	����:
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15. If the length of the park
L = 250 mts. find the total distance
covered together by P, R,
Q and S.

1) 250 mts.

2) 375 mts.

3) 500 mts.

4) 750 mts.

(Question : 16)

Directions : Choose and substitute the
correct set of signs in place of (*)
sequentially, selecting from the given
alternatives to make the equations
meaningful.

16. 45 * 15 * 5 * 35 * 25 * 25

1) –,  ÷ ,  ×,  = , +

2)  =,  ÷ ,  +,  –, ×

3) ÷ ,  ×,  +, –, =

4) ÷ ,  +,  ×,  –,  =

(Question : 17)

Directions : When interchange of
÷  and –;  4 and 2 are made, find which of
the following equations would be correct.

17. 1) (16 – 2) × 3 = 11

2) (32 – 2) ÷  4 = 6

3) (10 ÷  4) + 5 = 12

4) (30 ÷  4) – 2 = 9

15� ����2���C��D� � L =� 250� E	��� 8�����
P, R, Q ��	!�	(	S 
F#��6��������&�/��	��
G
	����6������	%����&�	?HI	��

1) 250	���1

2) 375	���1

3) 500	���1

4) 750	���1

(�� 3�%�4�16)

��67�������	� 4	 ��� !" ����	 �������" �,�����.
������/,�	��	
E�9�G	��� !"����	�	�	
��	(?�.�	��
��,�����.	(M)	6
��$�34	��*����
%	C$��N��������
O�=�$����.	���	�	
��	����#�$�	C�01

(�� 3�%�4�17)

��67�������	�4		÷	���) �� @	–	J	4	���) �� @	2	��
����.
�$�9�	=$�9�	��	
7$
��G	��
���	��� !"����	�	�	
��
�������" �,��8	 ����	�	
%" ��) � @$ �	 O�=�$ ����.
���E��F7P��1
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(Questions 18 – 19)

Directions : In the questions below the
numbers in the figures are related. Identify
their relationship and find the missing
numbers in the given figures.

18.

19.

(Question : 20)

20. A newspaper has 8 sheets
consisting in 32 pages in total and
4 pages in each sheets with all the
pages printed. If page number 25
is not present in that newspaper,
find the set of missing pages from
the choices given below.

1) 7,    8,    25,   26
2) 3,    4,    25,   22
3) 9,   10,    25,   24
4) 12, 13,    25,   22

(�� 3�%����	�4�18�5�19)
��67�������	� 4	 2	 ��
���	 ��� !"����	 ��*+�.��
�34G
C�� D5��
�34" � ���	 ���& � �� �
 ��	 ? ����" � ���
���=�$>������.	 ���(���)�@$�1	2	 ���=�$>������.
���"��50	()�*��
�34	AQ�!	?���%"����	���&����
����.
���E��F7P��1

1) 8

2) 6

3) 4

4) 2

1) 65

2) 55

3) 50

4) 48

(�� 3�%�4�20)

20� G���	� ��!�2��,���� ��� ���,�		� 8� )�������
G
	��32���K
������6%����6�H�����	!�	(��� �
)����,�	:#�� 
F#��L� ��		/ !���"��	��
4� ��K
��;���� 8� ��� ���,�	:#� ��K
� ���M��
25� ���/��D���� ������� ��6����	��� 8�,�	*�,�	
��N����:#�O
	��)�6�"��	�����K
������	%
���&�	?HI	��
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(Question : 21 – 22)

Directions : Find the correct mirror
images for the following problem figures
choosing from the alternatives.

Problem Figures :
�� 3�%�'!� ����		R

21.

22.

(�� 3�%����	�4�21522)

��67�������	�4���� !"����	��*+
.	()�*��#��	����	�	
$�
��*5A�=�����.	���	�	
��	����#�$�	���E��F7P��1
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(Question : 23  – 24)
Directions : Find the missing number in
the given matrices.

23.  7 9 6

 3 8 ?

8 3 5

168 216 900

1) 10

2) 15

3) 30

4) 45

24. 163 16 115

215 19 158

276 23 ?

1) 207

2) 216

3) 237

4) 246

(Questions : 25 – 26)
Directions : Find the missing part of the
given figure from the alternatives.

25.

(�� 3�%����	�4�23 5 24)
��67�������	�4	��� !"����	��	
)�D����
�34	AQ�!
?���%"����	���&���	�����.	���E��F7P��1

(�� 3�%����	�4�25 5 26)

��67�������	�4���� !"����	C��D5�	��34	AQ�!
?���%"����	()�*$�	�>
�������.
���	�	
��	����#�$�	���E��F7P��1
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26.

(Questions : 27 – 31)

Directions : Complete the given analogy
by selecting the correct answers from the
alternatives.

27. 16 : 105 :: 14 : ?

1) 91

2) 85

3) 77

4) 69

28. 343 : 441 ::? : 225

1) 64

2) 125

3) 216

4) 512

29.

H G

E F
:

19 20

22 21
: :

? ?

? ?
:

8 9

11 10

1)

P Q

S R
2)

D E

A B
3)

S R

P Q
4)

I J

K L

(�� 3�%����	�4�27�5 31)

��67�������	�4	��� !" ����	���	�	
��	����#�$�
����	�	
$�	H)�@"������.	C�0G	��
�%��
�
����)��	�����.	��/,����#01
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30.

31.
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(Questions : 32 – 33)

In a degree examination 75 students have
appeared from a college for subjects
physics, chemistry and mathematics.

Among them,

1) 12  students have passed in all
subjects.

2) 21 in physics only, 15 in chemistry
only, 9 in mathematics only have
passed.

3) Equal number of students have
passed in any of the two subjects only.

32. Find the total number of students
who have passed in mathematics.

1) 12

2) 15

3) 21

4) 33

33. What is the difference in the
number of students who have
passed in physics and chemistry  ?

1) 8

2) 7

3) 6

4) 5

(�� 3�%����	�4�32�5 33)

<�$��	 �
L��S��	 75	�$
�T���
��	�>�)�+
��@UG
"��
�	����+
��@U	���)��@	��,-)�	����	����
�34	��$��
���������	���#5$
I"�1
���"�34G

1) 12	�$
�T���
��	O94	����	����
�34	)�����E�
? ����$
I" �1

2) 21	 �$
�T���
��	 � >�) �+
�� @ U$ �34	 ��	
) � *G
15��$
�T���
��	"��
�	����+
��@U$�34	��	
)�*
���) �� @� 9	 �$
�T���
��	 ��,-) �$ �34	 ��	
) � *
)�����E�	?����$
I"�1

3) �	�	
��8$
$ �" ��	O"�E ��	����	����
�34
��	
) � *	) �����E �	? ����$ ���" ��	����	
��
���&���	��34$
I"�1

32� ��NP!��E$��,�	��:#�!����2&��)�6�/��	��
G
	��E���Q2��������M���,�	��	%
���&�	?HI	��
1) 12

2) 15

3) 21

4) 33

33� -=.!�3��� ( R� ��	!�	 (� �����,�	��3��� ( R� ���:#
!����2&��,�,���� E���Q2����� ���M���,�	
���!���������	�<

1) 8

2) 7

3) 6

4) 5
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(Question : 34)

34. Directions : Question below has
three statements I, II and III.

Decide whether the data in the
statements is sufficient to find the
answer to the given question :

Five children P, Q, R, S and T are
sitting in a row.

Statements :

I S is sitting next to the right of P.

II Q is sitting next to R.

III R is sitting to the extreme left.

Question : To find who is sitting
next to Q,

1) Data in statement I is sufficient.

2) Data in statement  II is sufficient.

3) Data in all the statements  I,  II
and  III are sufficient.

4) Data in all the statements I, II and
III are not sufficient.

(�� 3�%�4�34)

34� ��67�������	�4���
�%��	�� *+ �.�	��34	I, II	���) ��@
III�����"��	?��#����#��1	?��#���	��34"����
��	
F5�	���	��� !"����	��*+�.��	H)�@"�	���E��
F7�	��9�	�
�
�����8$��	O�$��	�$>���0	R

V$��	�����:
��	P, Q, R, S	���)��@	T	��
��
<�$��	�
3��34	���#5$
I"�1

)��;������	�4

I S	���	P		�	��	=9����:$�34	���#5$
I��1

II Q ���	R ��	����:$�34	���#5$
I��1

III R	���	OE��>
��$�	)����	��34	���#5$
I��1

�� 3�%� 4� Q� ��� ����*��:#� �,�,���	� ��	;���D��

���	� ���&�	�?H�,�	F	�

1) ?��#��	I�"�34��	��	
F5	�
���

2) ?��#��	II�"�34��	��	
F5	�
���1

3) ?��#��	 I, II	���)��@	 III	O94$�"�34"����
��	
F5�	���	�
�
�����8$��1

4) ?��#��	 I, II����)��@	 III	O94$�"�34"����
��	
F5�	���	�
�
�����8�941
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(Questions : 35 – 37)

Directions : Find the wrong number /
letters/ figure in the given series.

35. 9,  33,  73,  127, 201, 289

1) 201

2) 127

3) 73

4) 33

36. ACZX, BDYW, CEXV, DFVT, EHWU

1) B D Y W

2) C E X V

3) E H W U

4) A C Z X

37.

1) D

2) C

3) F

4) E

(�� 3�%����	�4�35�5�37)

��67�������	�4	��� !" ����	+�*�,-��
�34	) ��
W$�
���&��'����"���
��'()�*�����.	���E��F7P��1
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(Questions : 38 – 39)
Directions : Different faces of a cube are
shown. Among the alternatives given
identify which one of the figures represent
the unfolded cube.

38.

Directions : When the given problem
figure is folded as a cube, identify which
one of the cubes with faces shown below
is NOT possible?

 39.

(�� 3�%����	�4�38 5 39)

��67�������	�4	<�$��	X���$�	��$>�	����Y��
����.
) ����0$ �1	��� !" ����	���	�	
��	����
�34	�	�	
��
<�$��	()�*��8	A70"����	C	X��������.	��*5��B���)�@$�
O�$��	���"��501

��67�������	� 4	 ��� !" � ���	 �� *+ � .	 () � *����� .
X��
��D5�	�	
%	���70$
��G	��
�%��	���	�	
��	��
��
�34	)����0"����	�	�	
��	����Y��#"����	X�����
��
�
$>���94	Z
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(Questions : 40 – 41)

Directions : Take the given statements
as true and decide which of the
conclusions logically follow from the
statements.

40. Statements :

1) All umbrellas are aeroplanes.

2) Some birds are aeroplanes.

Conclusions :

I. All umbrellas are birds.

II. All aeroplanes are umbrellas.

1) Only conclusion I follows.

2) Only conclusion II follows.

3) Both conclusion I and II follow.

4) Neither conclusion I nor II follows.

41. Statements :

1) Some teachers are students.

2) All students are women.

Conclusions :

I All teachers are women.

II Some women are students.

III Some women are teachers.

IV All students are teachers.

1) Only conclusion I follows.

2) Conclusions I, II and III follow.

3) Conclusions II and III follow.

4) Conclusions I, III and IV follow.

(�� 3�%����	�4�40�5 41)

��67�������	�4���� !"����	?��#����
��	���	O�$��
�>
�0G	�	�	
��	�,��	����8	)
K����
%	?��"�
?������[)�@$�	O�$��	�$>���01

40� )��;������	�4
1) OL
4	\�5*��
��	���	
����
��1
2) ��9��8	��K���
��	���	
����
��1
BN2�,�	����	�4
I. O94	\�5*��
��	��K���
��1

II. O94	���	
����
��	\�5*��
��1
1) �����9	�,��	��	I	����������)�@$�1
2) �����9	�,��	��	II	����������)�@$�1
3) �,��	����
��	I	���) ��@	II	O"�E��

����������)�@��1
4) �,��	��	I	����
	II	�	�	
��8$ ��

������������8�941

41� )��;������	�4
1) ��9��8	H�
$>
��	��"����
��	�$
�T���
��1
2) OL
4	�$
�T���
��	���F
��	��"��1
BN2�,�	����	�4
I. OL
4	H�
$>
��	��"����
��	���F
��	��"��1

II. ��9��8	���F
��	��"��	�$
�T���
��1
III. ��9��8	���F
��	��"��	H�
$>
��	��"��1
IV. OL
4	�$
�T���
��	H�
$>
��	��"��1
1) �����9	�,��	��	I	����������)�@$�1
2) �����9	�,��	����
��	I,	II	���)��@	III

����������)�@��1
3) �,��	����
��	II	���)��@		III

����������)�@��1
4) �,��	����
��	I,	III	���) ��@	IV

����������)�@��1



20

GMAT(K-10) �������	�

(Questions : 42 – 43)

Directions : The following questions are
based on the given intersecting figures.

42. Which pair of numbers given
below are inside any TWO figures
only ?

1) 4,  8

2) 1,  11

3) 3,  10

4) 5,  9

43. Which one of the following
statements is correct ?

1) Number 9 is in figures I, II, III

2) Number 7 is in figures II, III, IV

3) Number 6 is in figures I, III, IV

4) Number 5 is in figures I, II, IV

(�� 3�%����	�4�42�5�43)

��67�������	�4�2	��
�%��	��*+�.��
��G	��� !"����
\��������	C��D5��
����.	C$>��0��1

42� ���������6����	����,�,�������M�������S�6�H�,�		

��&�	�'!� ����:#���,�!� �����<
1) 4,  8

2) 1,  11

3) 3,  10

4) 5,  9

43� ������� ��6����	��� )��;������:#� �,�,���K��	
����,�,�"���<

1) ���&��	9	C��D5��
��	I, II, III	"�34$�1

2) ���&��	7	C��D5��
��	II, III, IV	"�34$�1

3) ���&��	6	C��D5��
��	I, III, IV	" �34$ �1

4) ���&��	5	C��D5��
���I, II, IV	"�34$�1
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(Questions : 44 – 46)

Directions : In column – I words are given.
Their codes are given in small letters
under column – II without following the
same order as in column – I. The codes
for each word are jumbled within and
among the columns. Find the codes for
the letters of words in column – I and find
the codes for given words in the
questions.

Column – I

��(�-=��– I

Words –���������	

P O T

M A P

B U T

D A M P

R E A M

O C C U P Y

B O T T O M

44. BOAT
1) b  a  c  i
2) a  x  c  i
3) x  c  a  k
4) c  a  b  k

45. CANDY
1) q  c  f  n  i
2) c  n  r  q  s
3) n  c  z  s  q
4) b  x  t   w  n

(�� 3�%����	�4�44 5 46)

��67�������	� 4	 ��@��>�	 ] I	 " �	 ��
���	��$ ���
����.
��� !$ �1	2	��$ ���
�	������) ���
����.	��@�� > �	] II	"�
��
���	 (��:	 ����"���
�	 ��� !$�1	 2	 ������)���
��
��$���
�34"����	����"���#��	������*����
%941	���8��
�
������)���
����.	��*5	��$�$�9�4	?
���	��@��>���
�9�4
�$�9�	 =$�9�	��	
7$�1	 ��@��>�	 ] I	 "�34"����
��$���
�	 ����"���#��	 ������)������.	 ���E��F7$��
�� *+ �.��
�34	 ��� !" ����	 ��$ ���#��	 ������) ������.
���" ��501

Column – II

��(�-=��5� II

Codes 5�������!�����	

c e k

i w a

k x i

b c e p

c e s k

x i i e x a

k w x n n q

46. P R U D E N T

1) k  p  w  s  b  z  i

2) e  i  x  k  a  f  c

3) w  k  x  q  i  r  b

4) k  n  a  b  e  t  q
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(Question : 47)

Directions : A  parallelogram is given
below. Among the choices given, identify
which set of parts of figure is required to
form the parallelogram.

47.

1) A, B, C, E

2) A, F, E, D

3) A, D, C, E

4) A, D, B, F

(Question : 48)

48. Anil is one-third of his father’s
age. After 5 years his father will
be two and half times of Anil’s age.
Find the present age of Anil’s
father.

1) 60 years

2) 45 years

3) 42 years

4) 36 years

(�� 3�%�4�47)

��67�������		 R	2	 ��
���	 <�$��	 ����	
�
�)�"�
J�)���>���^�����.	 ��� !$�1C�	��:��
�34	 ��� !"����
() � *$ �	 � >
����
�	 �	�	
��	 ��,��8	 ����	
�
�) �" �
J�)���>���^�����.	��	
E�9�	���+�����
%$�	O�$��
���" ��501

(�� 3�%�4�48)

48� TBF��	�!���%�!�����,�	����,�	UV�����	6�����,�	
G���	�-=�����W���D���� 5���$�2��������!���
T��� �� ! �����, � 		� TBF��� � ��, � 	U V� �

��&�6�����,�	$�	�� ���	!�(���� )�������
TBF���!�����,�	�@"������,�	��V��	%� ���&�	
?HI	��

1) 60	�������
��

2) 45	�������
��

3) 42	�������
��

4) 36	�������
��
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(Question : 49)

Directions : In the following questions two
figures are given as problem figures. Find
which of the following alternative figures
would be formed, if the first figure is
superimposed on the second figure.

Problem Figures :
�� 3�%�'!� ����	�4

49.

(Question : 50)

50. One evening you will go to market
with your friend. There you will
notice a person looking suspicious
and acting in a strange manner.

At this situation what might your
appropriate decision ?

1) You will just alert your friend.

2) You will leave the market and
come out.

3) You will call the police
immediately.

4) You will neglect that person.

(�� 3�%�4�49)

��67�������	�4�2	��
���	O" �E ��	() �*��
����.	��*+
.
()�*��

%	��� !��1	2	()�*��
�34	���$�9���	��
()�*�����.G	 O" �E����	��	()�*$�	����L�	����	�	
%
;_
!��G	��� !"����	���	�	
��	����
�34	"�(��9WE����
()�*�����.	���E��F7P��1

(�� 3�%�4�50)

50� B���	� G���	� ���S�� B��%� �����,�	��� S�6!�
��,���2X����)�6���	�(��,�	��T:#�G�Y����A(
���3��,�,���Z����"� ��	!�	(� E'!� � ����,�	:#
���2��	��K����	%� ����	B��	�(��,�	�
@� �����-=�2��:#� B��%� �,�,���� BN2�,�	
��6��(��B��	!�(��<
1) ���.	��.�F)����	�����9	OJ��̀���5@��	��1
2) �����	��	
���Q���.	AQ�!	?��"���
="��5@��	��1

3) �����	)����,���	��/3���"����.
��"��	���5@��	��1

4) C	���K@�	�����.	�����	�9K����5@��	��1
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